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BIOLOGY

BOOKS - AAKASH SERIES

EXCRETORY PRODUCTS AND THEIR
ELIMINATION

Exercise | Excretory Products And Excretory

Organs

1. least toxic form of excretory product is



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_c1QrllGlQAC0

A. ammonia

B. urea

C. uric acid

D. carbon dioxide

Answer: A

o Watch Video Solution

2. Different types of excretory structures and

animals are given below. Match them


https://dl.doubtnut.com/l/_c1QrllGlQAC0
https://dl.doubtnut.com/l/_z5kjJPhlnqdm

appropriately and mark the correct answer

Column-1I Column-II
A)Protonephridia 1) Prawn
B)Nephridia 2) Cockroach

C)Malpighian tubules 3) Earthworm
D)Antennal glands/ . 4) Flat worm
green glands

1)A-4B-3,C-2,D-1
2)A-3,B-2.C-1,D-4
3)A-2,B-1,C-3,D-4
HA-2,B-1,C-4.D-3

o Watch Video Solution

3. Read the following and choose the correct

combination


https://dl.doubtnut.com/l/_z5kjJPhlnqdm
https://dl.doubtnut.com/l/_vU1HbqytSP9O

Ammonotelic Ureotelic

[) Bony fish . Shark fish
2) Shark fish Bony fish
3) Bony fish Shark fish
4) Crayfish Bony fish

ricotelic
Silver fish
Cuttlefish
Crayfish
Silverfish

o Watch Video Solution

4. Protonephridia of flatworms are primarily

concerned with

A.ionic and fluid volume regulation

B. excretion of ammonium ions with their

excretory organs


https://dl.doubtnut.com/l/_vU1HbqytSP9O
https://dl.doubtnut.com/l/_hqAVt2vRR1gG

C. egestion of undigested waste

D. expulsion of gametes during copulation

Answer: A

o Watch Video Solution

5. To minimize the loss of water from the body

the suitable condition is

A. Ammonotelism

B. Ureotelism


https://dl.doubtnut.com/l/_hqAVt2vRR1gG
https://dl.doubtnut.com/l/_JK7dGW3WYLCI

C. Uricotelism

D. Both (1) and (2)

Answer: C

o Watch Video Solution

6. An advantage of excreting nitrogenous

wastes in the form of uric acid is that :

A. Uric acid can be excreted in almost solid

form


https://dl.doubtnut.com/l/_JK7dGW3WYLCI
https://dl.doubtnut.com/l/_sIMIdlRqdu9E

B. The formation of uric acid requires a

great deal of energy

C.Uric acid is the first metabolic

breakdown product

D. Uric acid may be excreted through the

lungs

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_sIMIdlRqdu9E

7. Ammonia is the main nitrogenous excretory

material in

A. Amphibians

B. Aves

C. fresh water fishes

D. Reptiles

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KCAHOryovVH3
https://dl.doubtnut.com/l/_3RvWoplpzpOl

8. Animals which excrete large amount of

ammonia are

A. Terrestrial

B. Amphibians

C.Egg Laying

D. Aquatic

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3RvWoplpzpOl

9. Uric acid is nitrogenous waste in

A. Mammals and molluses

B. Birds and lizards

C. Frog and cartilaginous fishes

D. Insects and bony fishes

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2dt9Ub056bA4

10. Excretion of nitrogenous waste product

mainly as uric acid by birds is helpful in

A. Conserving body heat

B. Eliminating excess water

C. Conserving body water

D. Eliminating body water

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_u6WVN3iwkrW9
https://dl.doubtnut.com/l/_eZf1Zo1TyjXi

1. Which one of the following simplest

excretory organs ?

A. Alveoli

B. Flame cells

C. Nephridia

D. Kidney

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eZf1Zo1TyjXi

12. Elimination of which substance requires

large amount of water ?

A. Urea

B. Creatinine

C. Ammonia

D. Uric acid

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WLWaLWvqmBUc
https://dl.doubtnut.com/l/_Wj35AcUYlTPe

13. Which of the following are ammonotelic?

A. Terrestrial amphibians

B. Land snails

C. Marine fishes

D. Aquatic insects

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Wj35AcUYlTPe

14. In some animals desired osmolarity is

maintained in the kidney matrix by retaining

A. creatinine

B. urea

C.ammonia

D. uric acid

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dl2UvNHKIefy
https://dl.doubtnut.com/l/_BE8kSjOhNR1C

15. Excretory structures of rotifers

A. renette glands

B. solenocytes

C. flame cells

D. nephridia

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_BE8kSjOhNR1C

16. The following substances are the excretory

products in animals. Choose the least toxic

from among them

A. Urea

B. Uric acid

C. Ammonia

D. Carbon dioxide

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_MIUI5782ATwK

17. Which one of the following statements is

incorrect?

A.Birds and land snails are uricotelic

animals

B. Mammals and frogs are ureotelic

animals

C. Aquatic amphibians and aquatic insects

are ammonotelic animals

D. Birds and reptiles are ureotelic


https://dl.doubtnut.com/l/_c9qwpWLSo0Mp

Answer: D

o Watch Video Solution

18. Which of the following pairs is wrong?

A. Uricotelic - birds

B. Ureotelic - insects

C. Ammonotelic - Tadpole

D. Ureotelic - Elephant

Answer: B


https://dl.doubtnut.com/l/_c9qwpWLSo0Mp
https://dl.doubtnut.com/l/_wF1ng0fCHIE4

° Watch Video Solution

Exercise | Human Excretory System

1. Part of human kidney that has projections

called calyces is

A. hilum

B. renal capsule

C. cortex

D. renal pelvis


https://dl.doubtnut.com/l/_wF1ng0fCHIE4
https://dl.doubtnut.com/l/_ifuugoKXPmBe

Answer: D

o Watch Video Solution

2. Columns of Bertini are present between

A. renal cortex and medulla

B. Bowman's capsules

C. renal pyramids

D. kidney and urinary bladder

Answer: C


https://dl.doubtnut.com/l/_ifuugoKXPmBe
https://dl.doubtnut.com/l/_gEoWPsgYhX2l

° Watch Video Solution

3. Glomerulus in kidney is formed by

A. renal artery and renal vein

B. afferent arteriole and renal venule

C. efferent arteriole and renal portal vein

D. afferent renal arteriole

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_gEoWPsgYhX2l
https://dl.doubtnut.com/l/_HcQnD3jP2YgV

4. Medullary nephrons are

A. without Henle loop

B. without vasa recta

C. with long Henle loop

D. with less blood supply

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HcQnD3jP2YgV
https://dl.doubtnut.com/l/_oCb7kMbYnQ5z

5. Vasa recta run parallel to

A. PCT

B. DCT

C.loop of Henle

D. all of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_c19dazhzakEO

6.1n Bowman's capsule

A. afferent arteriole is narrower whereas

efferent arteriole is wider

B. afferent arteriole is wider whereas

efferent arteriole is narrow

C. afferent capillary is wider and efferent

capillary is narrow

D. afferent capillary is narrow and efferent

capillary is wide


https://dl.doubtnut.com/l/_ZoUgmrX2onAl

Answer: B

o Watch Video Solution

7.Through the hilum of a kidney these emerge

out

A.renal artery and ureter

B. renal vein and ureter

C. nerve and renal artery

D. renal artery and renal vein


https://dl.doubtnut.com/l/_ZoUgmrX2onAl
https://dl.doubtnut.com/l/_luruXAtP1pYh

Answer: B

o Watch Video Solution

8. Juxtamedullary nephrons are much efficient

in reabsorption of components because

A.they are found adjacent area of cortex

with medulla

B. they have larger Bowman's capsules


https://dl.doubtnut.com/l/_luruXAtP1pYh
https://dl.doubtnut.com/l/_CVmmam7kJG9g

C.they have long loop of Henle and well

developed vasa recta

D. they are present in desert animals only

Answer: C

o Watch Video Solution

9. Vasa recta is the continuation of

A. afferent arteriole

B. efferent arteriole


https://dl.doubtnut.com/l/_CVmmam7kJG9g
https://dl.doubtnut.com/l/_usKwDpd2qddP

C.renal vein

D. renal nerve

Answer: B

° Watch Video Solution

10. Read the following and choose the correct

pertaining to Malpighian body


https://dl.doubtnut.com/l/_usKwDpd2qddP
https://dl.doubtnut.com/l/_dQ7vI9tNzsHS

A.'A has lesser diameter than that of 'B'

B.'B' continues as vasa recta in all

vertebrates

C.'C' is formed by two layers of simple

squamous epithelium


https://dl.doubtnut.com/l/_dQ7vI9tNzsHS

D.'D' continues as loop of Henle and then

as convoluted tubules

Answer: C

o Watch Video Solution

11. Which of the following are found in cortical

region of kidney of mammals?

A. PCT and DCT

B. PCT and loop of Henle


https://dl.doubtnut.com/l/_dQ7vI9tNzsHS
https://dl.doubtnut.com/l/_HqPKAt6Q7PF9

C. Loop of Henle and collecting duct

D. DCT and loop of Henle

Answer: A

o Watch Video Solution

12. In human kidney, the blood vessel which is
not a portal vein but starts with blood

capillaries and end with blood capillaries is

A. afferent arteriole


https://dl.doubtnut.com/l/_HqPKAt6Q7PF9
https://dl.doubtnut.com/l/_SPgdsW8DcdIZ

B. renal vein

C.renal artery

D. efferent arteriole

Answer: D

o Watch Video Solution

13.In humans, kidneys are located between the

levels of

A. last cervical and 3rd thoracic vertebrae


https://dl.doubtnut.com/l/_SPgdsW8DcdIZ
https://dl.doubtnut.com/l/_J6qJpQX7vKCn

B. last thoracic and 3rd lumbar vertebrae

C. last lumbar and 3rd sacral vertebrae

D. 3rd thoracic and last lumbar vertebrae

Answer: B

o Watch Video Solution

14. Broad funnel shaped space in the kidney,

inner to hilum is

A. renal column


https://dl.doubtnut.com/l/_J6qJpQX7vKCn
https://dl.doubtnut.com/l/_VY65dFLCfSe9

B. renal pelvis

C. renal calyx

D. renal sinus

Answer: B

o Watch Video Solution

15. extensions of cortex between the medullary

pyramids of kidney and known as

A. columns of Bertini


https://dl.doubtnut.com/l/_VY65dFLCfSe9
https://dl.doubtnut.com/l/_sAkW5apYPVyc

B. ducts of Bellini

C. renal calyces

D. renal pyramids

Answer: A

o Watch Video Solution

16. Which of the following is located in the

medulla of the kidney?

A. Malpighian body


https://dl.doubtnut.com/l/_sAkW5apYPVyc
https://dl.doubtnut.com/l/_CUlqyyprEAKG

B. PCT

C. Henle's loop

D. DCT

Answer: C

o Watch Video Solution

17. Majority of the nephrons in the human

kidney are

A. Juxta medullary - with long loop of Henle


https://dl.doubtnut.com/l/_CUlqyyprEAKG
https://dl.doubtnut.com/l/_7CRXqKqtiwtV

B. Juxta medullary - with short loop of

Henle

C. Cortical - with long loop of Henle

D. Cortical - with short loop of Henle

Answer: D

o Watch Video Solution

18. Which one of the following statement is

incorrect?


https://dl.doubtnut.com/l/_7CRXqKqtiwtV
https://dl.doubtnut.com/l/_zMosvIrA77SJ

A. The medullary zone of kidney is divided

into a few conical masses called

medullary pyramids projecting into the

calyces

B.Inside the kidney the cortical region

extends in between the medullary

pyramids as renal pelvis

C.Glomerulus along with Bowman's

capsule is called the renal corpuscle


https://dl.doubtnut.com/l/_zMosvIrA77SJ

D.Renal corpuscle, proximal convoluted
tubule (PCT) and distal convoluted
tubule (DCT) of the nephron'are situated

in the cortical region of kidney

Answer: B

° Watch Video Solution

Exercise | Urine Formation



https://dl.doubtnut.com/l/_zMosvIrA77SJ

1. The net pressure gradient that causes the

fluid to filter out of the glomeruli into the

capsule is

A.20 mm Hg

B. 50 mm Hg

C.75 mm Hg

D.30 mm Hg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mNUHDuFQDp30

2. The Glomerular capillary blood pressure

causes filtration of blood through ?

A. 2 layers

B. 1layer

C. 3 layers

D. 5 layers

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FdDVWCI6bM1c
https://dl.doubtnut.com/l/_p6POnMbnxbGU

3. Which of the following occur in epithelium

of Bowman's capsule?

A. Nephrocytes

B. Podocytes

C. Neural cells

D. Protonephridia

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_p6POnMbnxbGU

4. Materials that are not filtered in Bowman's

capsule are

A. simple sugars

B. water

C. amino acids

D. proteins

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_K2zQk9n7HO5B
https://dl.doubtnut.com/l/_eVh3d3gVZaKV

5. 0n their activation JG cells secrete

A. erythropoietin

B. carbonic anhydrase

C.renin

D. angiotensin

Answer: C

° Watch Video Solution

6. )G cells get activated when there is


https://dl.doubtnut.com/l/_eVh3d3gVZaKV
https://dl.doubtnut.com/l/_BQYhfsC1LqpX

A. more GFR

B. normal GFR

C. fall in GFR

D. both (1) and (3)

Answer: C

o Watch Video Solution

7. Filtration of the blood takes place at

A. Proximal convoluted tubules


https://dl.doubtnut.com/l/_BQYhfsC1LqpX
https://dl.doubtnut.com/l/_nKybCSpAdIyx

B. Distal convoluted tubules

C. Malpighian body

D. collecting ducts

Answer: C

o Watch Video Solution

8. In kidney ultrafiltration occurs due to

A. osmotic concentration

B. glomerular hydrostatic pressure


https://dl.doubtnut.com/l/_nKybCSpAdIyx
https://dl.doubtnut.com/l/_wi0Jl8HK3qLI

C. deoxygenated blood

D. exocytosis

Answer: B

o Watch Video Solution

9. Glomerular filtrate contains

A. all the constituents of plasma

B. all the constituents of blood

C.similar to the features of serum


https://dl.doubtnut.com/l/_wi0Jl8HK3qLI
https://dl.doubtnut.com/l/_iay4eeI8qp8R

D. all the constituents of plasma excluding

larger proteins

Answer: D

o Watch Video Solution

10. Glomerular filtration per minute is equal to

A.1/2 of blood pumped by each ventricle

per minute


https://dl.doubtnut.com/l/_iay4eeI8qp8R
https://dl.doubtnut.com/l/_zEF4UBX8uPoi

B.1/5 of blood pumped by each ventricle

per beat

C.1/2 of blood pumped by each ventricle

per beat

D.1/5 of blood pumped by each ventricle

per minute

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_zEF4UBX8uPoi

1. Identify the correct set of parts in the

diagram given below.

A. A - Fenestration, B - Filtration slit, C -

Podocyte

B.A - Podocyte, B - Filtration slit, C -

Fenestration


https://dl.doubtnut.com/l/_H0rhgY6akcb6

C. A - Filtration slit, B - Fenestration, C -

Podocyte

D.A - Filtration slit, B - Podocyte, C -

Fenestration

Answer: A

o Watch Video Solution

12. The movement of ions against the

concentration gradient will be:


https://dl.doubtnut.com/l/_H0rhgY6akcb6
https://dl.doubtnut.com/l/_Cw02Akt4EtVQ

A. Active transport

B. Osmosis

C. Diffusion

D. All

Answer: A

° Watch Video Solution

13. Volume of the blood filtered by the kidneys

per minute is


https://dl.doubtnut.com/l/_Cw02Akt4EtVQ
https://dl.doubtnut.com/l/_toP4VF3AJEjl

A. 180ml

B. 125ml

C. 1100-1200ml

D. 5000ml|

Answer: C

o Watch Video Solution

14. Filtration slits are formed by

A. endothelium of glomerular capillaries


https://dl.doubtnut.com/l/_toP4VF3AJEjl
https://dl.doubtnut.com/l/_qJPDZOqKo0bz

B. podocytes of glomerular capillaries

C. podocytes of Bowman's capsule

D. podocytes of renal capsule

Answer: C

o Watch Video Solution

15. Amount of filtrate formed by kidneys per

minute is approximately

A. 125ml/min


https://dl.doubtnut.com/l/_qJPDZOqKo0bz
https://dl.doubtnut.com/l/_hbjW7QsY5gpY

B. 180 ml/min

C. 1100-1200 ml/min

D. 1500 ml/min

Answer: A

o Watch Video Solution

Exercise | Function Of The Tubules

1. The ascending limb of loop of Henle


https://dl.doubtnut.com/l/_hbjW7QsY5gpY
https://dl.doubtnut.com/l/_nCdjyROT6pD4

A.permeable to water but not for

electrolytes

B.permeable to both water and

electrolytes

C. permeable to electrolytes but not for

water

D. impermeable for both electrolytes and

water

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_nCdjyROT6pD4

2. The concentration of filtrate will as it

moves down in the descending limb of loop of

Henle

A. increase

B. decrease

C. remain unchanged

D. first increase and then decrease

Answer: A

I a Watch Video Solution


https://dl.doubtnut.com/l/_nCdjyROT6pD4
https://dl.doubtnut.com/l/_9AOZxdCLM3KX

3. From this part urea can be reabsorbed into

interstitium to maintain osmolarity of that

region

A. PCT

B. DCT

C. loop of Henle

D. collecting duct

Answer: D

| = |


https://dl.doubtnut.com/l/_9AOZxdCLM3KX
https://dl.doubtnut.com/l/_HHW5FvVu3u8J

I 0 Watch Video Solution I

4. Urine becomes more and more hypertonic

as it passes through

A. descending limb of loop of Henle

B. proximal convoluted tubule

C. ascending limb of loop of Henle

D. distal convoluted tubule

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HHW5FvVu3u8J
https://dl.doubtnut.com/l/_hKmW556lUgDs

5. Match the following regarding excretory

system and choose correct one.

Colunn-l Column-11
AVProximal convoluted 1) Formation of

tuhule concentrated urine
B)ystal convaluted  2) Filiration of blood

ubule

(1 Henie's loap 31 Feabserption of
T0-300% of
electrolytes

Dy Counter current 4) lonic balance
mechanism

CE)Eenal corpuscle 5) Maintenance of
concentration
gridient in rena!
medulla

NA-3,B-5,C-4,D-2, Er]

2)A-3B-4C-1,D-5E-

A-LB-3,C-2D-5E-

YA-3B-1,C-4D-5E-

o Watch Video Solution



https://dl.doubtnut.com/l/_hKmW556lUgDs
https://dl.doubtnut.com/l/_XLCzPGzXQ1QQ

6. Major portion of glomerular filtrate

reabsorbed in

A. proximal convoluted tubule

B. distal convoluted tubule

C. ascending limb of loop of Henle

D. descending limb of loop of Henle

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_XLCzPGzXQ1QQ
https://dl.doubtnut.com/l/_gNgDDMToBDkP

7. Essential nutrients like glucose, amino acids

and vitamins reabsorbed in

A.DCT

B. PCT

C. Loop of Henle

D. Collecting duct

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ubJUlNSGNvIO
https://dl.doubtnut.com/l/_6Di5I5rvGrbY

8. Uder normal conditions which one is

completely reabsorbed in the renal tubule?

A. urea

B. uric acid

C. glucose

D. creatinine

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6Di5I5rvGrbY
https://dl.doubtnut.com/l/_JlzpDXg5i5z2

9. Which one is impermeable to reabsorption

of electrolytes in nephron?

A. proximal convoluted tubule

B. distal convoluted tubule

C. ascending limb of loop of Henle

D. descending limb of loop of Henle

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_JlzpDXg5i5z2

10. Maintenance of pH and ionic balance of
blood takes place by the selective secretion of
certain ions takes place in

PCT

DCT

Collecting duct

All the above

A. PCT

B. DCT

C. Collecting duct


https://dl.doubtnut.com/l/_zYBvWFXuACgd

D. All the above

Answer: D

o Watch Video Solution

11. Read the following diagram and choose the

correct statements.


https://dl.doubtnut.com/l/_zYBvWFXuACgd
https://dl.doubtnut.com/l/_323wDfOVa8tK

). In part 'A, the water reabsorption takes
place Il) In part 'B', the water and electrolytes
reabsorption take place Ill) In part 'C, the
water reabsorption takes place IV) In part 'D/,
the water is reabsorbed but electrolytes are

not reabsorbed


https://dl.doubtnut.com/l/_323wDfOVa8tK

A.land Il

B.l and Il

C.llland IV

D.land IV
Answer: B

o Watch Video Solution

12. Identify the correct statement from the

following


https://dl.doubtnut.com/l/_323wDfOVa8tK
https://dl.doubtnut.com/l/_XHj4K5HEzWq9

A.70-80% of electrolytes and water are

reabsorbed in PCT

B. Volume of the glomerular filtrate is 180

liters

C. Volume of urine per day is 1.5 liters

D. All the above

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XHj4K5HEzWq9

13. Which of the following is incorrect?

A. Primary urine is hypotonic to cortical

fluid

B. Urine in CD is hypertonic to plasma of

blood

C.Urine in CD is hypertonic to medullary

fluid

D. Urine in CD is equal to the concentration

of medullary fluid


https://dl.doubtnut.com/l/_2Mnh3hd1eXpo

Answer: C

o Watch Video Solution

14. Which is mismatched.

A. Bowman's capsule - Glomerular filtration
B. PCT - Absorption of Na* and K+
C. DCT - Absorption of glucose

D. None of these

Answer: C


https://dl.doubtnut.com/l/_2Mnh3hd1eXpo
https://dl.doubtnut.com/l/_BR3wOwx71JUX

° Watch Video Solution

15. Maximum absorption of Na™ and K™
ions occur in

A. Bowman's capsule

B. Loop of Henle

C. Distal convoluted tubule

D. Proximal convoluted tubule

Answer: A

| 8 l


https://dl.doubtnut.com/l/_BR3wOwx71JUX
https://dl.doubtnut.com/l/_7tf6Q61l9Ghj

16. Renal fluid present in the part of renal

tubule which is impermeable to water but

permeable to salts is

A. Hypertonic to the medullary fluid

B. Hypotonic to the medullary fluid

C. Isotonic to the cortical fluid

D. Hypertonic to blood and isotonic to the

cortical fluid


https://dl.doubtnut.com/l/_7tf6Q61l9Ghj
https://dl.doubtnut.com/l/_pvyjUgXTLdwn

Answer: B

o Watch Video Solution

17. During formation of urine NacCl is returned

to the medullary interstitium from the

A. Ascending limb of Henle's loop

B. Descending portion of the vasa recta

C. Ascending portion of the vasa recta

D. Descending limb of Henle's loop


https://dl.doubtnut.com/l/_pvyjUgXTLdwn
https://dl.doubtnut.com/l/_u8ya1Td7Uhoh

Answer: C

o Watch Video Solution

18. Which process plays important role in

maintenance of ionic and acid base balance of

body fluids

A. ultrafiltration

B. tubular secretion

C. reabsorption

D. glomerular filtration


https://dl.doubtnut.com/l/_u8ya1Td7Uhoh
https://dl.doubtnut.com/l/_wNHh7moletpB

Answer: B

o Watch Video Solution

Exercise | Mechanism Of Concentration Of The

Filtrate

1. Counter current mechanism observed in the
renal medulla helps in formation of
concentrated urine

dilute urine


https://dl.doubtnut.com/l/_wNHh7moletpB
https://dl.doubtnut.com/l/_Wb3GJKt6Q3Hi

reabsorption of nutrients

reabsorption of creatinine

A. concentrated urine

B. dilute urine

C. reabsorption of nutrients

D. reabsorption of creatinine

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Wb3GJKt6Q3Hi

2. Statement (A): Humans have the ability to
produce concentrated urine.

Statement (B) : Majority of the nephrons in
the human kidney have very long loops of
Henle and well-developed vasa recta which are

involved in countercurrent mechanism.

A. Both A and B are correct

B. Both A and B are false

C.Ais true, but B is false

D. Ais false, but B is true


https://dl.doubtnut.com/l/_kTC9uMwHoFaF

Answer: C

o Watch Video Solution

3. Loop of Henle plays a significant role in the

maintenance of

A.low osmolarity in medullary interstitial

fluid

B. high osmolarity in cortical interstitial

fluid


https://dl.doubtnut.com/l/_kTC9uMwHoFaF
https://dl.doubtnut.com/l/_882G24YQdu4i

C.low osmolarity in cortical interstitial

fluid

D. high osmolarity in medullary interstitial

fluid

Answer: D

o Watch Video Solution

4. Osmolarity close to cortex is 300 mOsmol/L
and 1200 mOsmol/L in the inner medulla, the

gradient mainly caused by


https://dl.doubtnut.com/l/_882G24YQdu4i
https://dl.doubtnut.com/l/_2SidpMyw8jLW

A. bicarbonates and glucose

B. glucose and amino acids

C.NaCl and urea

D. NaCl only

Answer: C

o Watch Video Solution

5. Human urine as compared to human blood

is normally : —


https://dl.doubtnut.com/l/_2SidpMyw8jLW
https://dl.doubtnut.com/l/_BC7w8soislll

A. Hypotonic

B. Hypertonic

C. Isotonic

D. All of these

Answer: B

o Watch Video Solution

6. We can produce concentrated / dilute urine.
This is facilitated by a special mechanism.

Identify the mechanism.


https://dl.doubtnut.com/l/_BC7w8soislll
https://dl.doubtnut.com/l/_z6E3KZHlhBT5

A. Reabsorption from PCT

B. Reabsorption from collecting Duct

C. Reabsorption/Secretion in DCT

D. Counter current mechanism in Henle's

loop/Vasa recta

Answer: D

° Watch Video Solution

Exercise | Regulation Of Kidney Function


https://dl.doubtnut.com/l/_z6E3KZHlhBT5
https://dl.doubtnut.com/l/_Vy3EOzFB52Lx

1. Hormone released by hypothalamus, which

is related with the functioning of kidney is

A. renin

B. ANF

C. vasopressin

D. angiotensin

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Vy3EOzFB52Lx

2. Angiotensin Il is

A. a vasoconstrictor

B. a vasodilator

C. activating adrenal medulla

D. decreasing GFR

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CdtyDWqf0B2G

3. Atrial Natriuretic Factor (ANF)

A. causes vasodilation

B. increases blood pressure

C. decreases GFR

D. activates renin

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mPoHiJUc1vyT

4. Match the following regarding excretory

system and choose correct one.

Column-1 Column-I1
AMG cells 1) Vasodilator
B)Hypothalamus 2) Vasoconstrictor
C)Angiotensin 11 3) Vasopressin

" DYANF 4) Renin

iyA-4,B-3,C-2,D- |
2)A-3,B-2,C-1,D-4
3J)A-2,B-1,C-3,D-4
NHA-2,B-1,C-4,D-3

o Watch Video Solution

5. Statement (A): Atrial natriuretic peptide

(ANP) mechanism acts as a counter check on


https://dl.doubtnut.com/l/_p7RY0Xck8ujb
https://dl.doubtnut.com/l/_WnvX0oNpZ1ob

the RAAS (Renin-Angiotensin-Aldosterone
system).
Statement (B) : ANP causes contraction of
vascular smooth muscles.

A. Both A and B are correct

B. Both A and B are false

C.Ais true, but B is false

D. A is false, but B is true

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WnvX0oNpZ1ob

6. Which of the following statement is correct?

A. ANF and renin-angiotensin mechanism

are similar in their function

B. ADH and ANF are vasodilators

C. Vasopressin prevents more loss of water

through urine

D.JGA releases renin when gromerular

blood pressure increases


https://dl.doubtnut.com/l/_WnvX0oNpZ1ob
https://dl.doubtnut.com/l/_BI5dJBA3kekq

Answer: C

o Watch Video Solution

7.Enzyme released from kidney is

A. renin

B. uricase

C. pepsin

D. none of these

Answer: A


https://dl.doubtnut.com/l/_BI5dJBA3kekq
https://dl.doubtnut.com/l/_B75m4OUsiVKC

o Watch Video Solution

8. Read the following

A B
Angiotensinogen —— Angiotensin - | —

C
Angiotensin- I — Aldosterone Identify A, B
and C
A. A-Renin,  B-Angiotensin converting
enzyme and C-Adrenal medulla

B. A-Renin, B-Angiotensin converting

enzyme and C-Adrenal cortex


https://dl.doubtnut.com/l/_B75m4OUsiVKC
https://dl.doubtnut.com/l/_xERy2Jmz7Xux

C. A-Angiotensin converting enzyme,

Renin and C-Adrenal medulla

D. A-Angiotensin converting enzyme,

Renin and C-Adrenal cortex

Answer: B

o Watch Video Solution

9. Role of Angiotensin Il is

A. Decreases the GFR


https://dl.doubtnut.com/l/_xERy2Jmz7Xux
https://dl.doubtnut.com/l/_vMo9oVj0wowo

B. Enhances reabsorption of Na ™
C. Stimulates the secretion of ANP

D. Decreases BP

Answer: B

o Watch Video Solution

10. Increase in body fluid volume

A. 1. activates the osmioreceptors

B. 2. suppresses release of ADH


https://dl.doubtnut.com/l/_vMo9oVj0wowo
https://dl.doubtnut.com/l/_osFC7JM307jC

C. 3. increases ADH secretion

D. 4, prevents diuresis

Answer: B

o Watch Video Solution

11. Which one of the following is also known as

antidiuretic hormone?

A. Oxytocin

B. Vasopressin


https://dl.doubtnut.com/l/_osFC7JM307jC
https://dl.doubtnut.com/l/_TuVhgkn4RqrG

C. Adrenaline

D. Calcitonin

Answer: B

° Watch Video Solution

Exercise | Micturition

1. Micturition occurs due to

A. contraction of bladder muscles


https://dl.doubtnut.com/l/_TuVhgkn4RqrG
https://dl.doubtnut.com/l/_TGixQWubPuiH

B. contraction of urethral sphincter

C. relaxation of urethral sphincter

D. Both (1) and (3)

Answer: D

o Watch Video Solution

2. Amount of urea excreted out per day is

A1-151t

B.25-30 gm


https://dl.doubtnut.com/l/_TGixQWubPuiH
https://dl.doubtnut.com/l/_JQiulM3YYjf3

C.180 It

D.10-15 gm

Answer: B

° Watch Video Solution

3. Urine of a diabetes mellitus patient consists

of

A. no glucose

B. glucose


https://dl.doubtnut.com/l/_JQiulM3YYjf3
https://dl.doubtnut.com/l/_xVZjb6FY2VLX

C. ketone bodies

D. both (2) and (3)

Answer: D

° Watch Video Solution

4.The pH of urine is approximately

A. 6.5

B.7

C.6


https://dl.doubtnut.com/l/_xVZjb6FY2VLX
https://dl.doubtnut.com/l/_q3bJal3UTdwI

D.7.5

Answer: C

o Watch Video Solution

Exercise | Role Of Other Organs In Excretion

1. Sweat glands help in elimination of

A. NaCl

B. Urea


https://dl.doubtnut.com/l/_q3bJal3UTdwI
https://dl.doubtnut.com/l/_hZNkLyWVCEa8

C. Lactic acid

D. All the above

Answer: D

O Watch Video Solution

2. Substances eliminated along with sebum

A. hydrocarbons

B. sterols

C. waxes


https://dl.doubtnut.com/l/_hZNkLyWVCEa8
https://dl.doubtnut.com/l/_YiYa21HGe5Vk

D. all the above

Answer: D

° Watch Video Solution

3. A large quantity of one of the following is

removed from our body by lungs.

A. CO2onIy

B. HgOonIy

C. 002 and H2O


https://dl.doubtnut.com/l/_YiYa21HGe5Vk
https://dl.doubtnut.com/l/_X8RYDArhlXmN

D. ammonia

Answer: C

° Watch Video Solution

4. Sweating is meant for

A. removal of excess salt

B. regulation of body temperature

C. killing of skin bacteria

D. removal of excess water


https://dl.doubtnut.com/l/_X8RYDArhlXmN
https://dl.doubtnut.com/l/_2BhiL1T5OqWa

Answer: B

o Watch Video Solution

5. Lactic acid is excreted by

A. sebaceous glands

B. sudoriferous glands

C. liver

D. kidneys

Answer: B


https://dl.doubtnut.com/l/_2BhiL1T5OqWa
https://dl.doubtnut.com/l/_jM4B07uaP272

° Watch Video Solution

Exercise | Disorders Of The Excretory System

1. Haemoodialysis is helpful for the patients

who are suffering from

A. diabetes insipidus

B.uremia

C. glomerulonephritis

D. diabetes mellitus


https://dl.doubtnut.com/l/_jM4B07uaP272
https://dl.doubtnut.com/l/_h4Nk9Ov2SDxO

Answer: B

o Watch Video Solution

2. Formation of insoluble mass of crystallised

salts in the kidney is

A. glomeulonephritis

B.uremia

C. renal calculi

D. renal failure


https://dl.doubtnut.com/l/_h4Nk9Ov2SDxO
https://dl.doubtnut.com/l/_0hLlWOgJDYV2

Answer: C

o Watch Video Solution

3. Dialysis fluid contanis all the constituents as

in plasma except

A. water

B. amino acids

C. nitrogenous wastes

D. sugars


https://dl.doubtnut.com/l/_0hLlWOgJDYV2
https://dl.doubtnut.com/l/_LBTaGDWJIgDI

Answer: C

o Watch Video Solution

4. The condition of accumulation of urea in

the blood is termed as

A. renal calculi

B. glomerulonephritis

C.uremia

D. ketonuria


https://dl.doubtnut.com/l/_LBTaGDWJIgDI
https://dl.doubtnut.com/l/_QpiPxIxd9jgC

Answer: C

o Watch Video Solution

5. Dialysing unit (artificial kidney) contanis a

fluid which is almost same as plasma except

that it has

A. high glucose

B.no urea

C. high urea

D. high uric acid


https://dl.doubtnut.com/l/_QpiPxIxd9jgC
https://dl.doubtnut.com/l/_35S8eaOCOJ7v

Answer: B

o Watch Video Solution

6. After the process of dialysis, the cleared
blood is pumped back to the body through a
vein by adding this

A. anti-heparin

B. heparin

C. dialyzing fluid

D. nitrogenous wastes


https://dl.doubtnut.com/l/_35S8eaOCOJ7v
https://dl.doubtnut.com/l/_jJUW47WftIuU

Answer: A

o Watch Video Solution

7. Match the abnormal conditions given in Col-
umn A with their explanations, given in Col-

umn B and Choose the correct option

Column A ColumnB
A | Glycosurea i Accumulation of
uric acid in joints
B.| Renal calculi ii. | Inflammation in
glomeruli
C.| Glomerular ii. | Mass of crystallised
nephritis salts within the
kidney
D | Gout iv. | Presence of
glucose in urine

O Watch Video Solution



https://dl.doubtnut.com/l/_jJUW47WftIuU
https://dl.doubtnut.com/l/_2mqzY6Yv9Ei4

Exercise li Excretory Products And Excretory

Organs

1. Match the following.

List - 1 List - H
A) Renette gluands Iy Palamnaeus
B) Antennary glands 11} Wuchereria
C) Pericardial glands Ty Periplaneta
D) Uricose glunds IV} Pila
E) Coxal glands V) Carcinus
1) A-IIL, B-V, C-1V, D-1, E-II
2) A-11, B-V, C-1V, D111, E-I
3 A-LLL B-1V, C-V, D-11, E-1
43 A-11, B-1l1, C-1V, D-V, E-1

o Watch Video Solution



https://dl.doubtnut.com/l/_2mqzY6Yv9Ei4
https://dl.doubtnut.com/l/_GLRMGmcgy0j6

2. Choose the correct statements

A) Uric acid is converted into allantoin by the
action of uricase enzyme, in humans

B) Most of the ammonia is lost as ammonium
ions across the epithelium of gills, in bony
fishes

C) Trimethylamine oxide protects body
proteins from the damaging effect of uric acid

in cartilaginous fishes

A. A, B only

B. B, Conly


https://dl.doubtnut.com/l/_ROUbAUToZtCn

C.A Conly

D. All

Answer: B

° Watch Video Solution

3. Nitrogenous waste products are eliminated

mainly as

A. Urea in tadpole & ammonia in adult frog


https://dl.doubtnut.com/l/_ROUbAUToZtCn
https://dl.doubtnut.com/l/_SsNEenJwefzD

B. Ammonia in tadpole and urea in adult

frog

C. Urea in both tadpole & adult frog

D.Urea in tadpole and uric acid in adult

frog

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SsNEenJwefzD

4. In ornithine cycle, enzyme arginase breaks

down arginine into

A. Citrulline and ammonia

B. Ornithine and ammonia

C. Ornithine and urea

D. Citrulline and urea

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3oeTmmyOno4I
https://dl.doubtnut.com/l/_qBGLFohwLDNI

5. Trimethylamine is the excretory product in

A. Marine teleosts

B. Fresh water fishes

C. Terrestrial Molluscs

D. Amphibians

Answer: A

° Watch Video Solution

6. Urea is derived from


https://dl.doubtnut.com/l/_qBGLFohwLDNI
https://dl.doubtnut.com/l/_ccjmwJpZS4EC

A. Facts

B. Amino acids

C. Carbohydrates

D. Uric acid

Answer: B

o Watch Video Solution

7.Ornithine cycle operates in

A. Stomach


https://dl.doubtnut.com/l/_ccjmwJpZS4EC
https://dl.doubtnut.com/l/_YRqqCwlNuXmq

B. Pancreas

C. Liver

D. Oral cavity

Answer: C

o Watch Video Solution

8. Physiologically urea is produced by the

action of an enzyme

A. Uricase


https://dl.doubtnut.com/l/_YRqqCwlNuXmq
https://dl.doubtnut.com/l/_xmJ2AZVyntLg

B. Urease

C. Arginase

D. None

Answer: C

o Watch Video Solution

9. Identify the correct matching pair

A. fish - uricotelic

B. man - ureotelic


https://dl.doubtnut.com/l/_xmJ2AZVyntLg
https://dl.doubtnut.com/l/_8DuJQGecYbz8

C. bird - ammonotelic

D. frog - uricotelic

Answer: B

o Watch Video Solution

10. Correct order of excretory organs in

Cockroach, Earthworm and Rabbit respectively

A. Skin, Malpighian tubules, kidneys


https://dl.doubtnut.com/l/_8DuJQGecYbz8
https://dl.doubtnut.com/l/_bcLsaUnzE0H2

B. Malpighian tubules, nephridia, kidneys

C. Nephridia, Malpighian tubules, kidneys

D. Nephridia, kidneys, green glands

Answer: B

o Watch Video Solution

11. Which one of the following pair of waste
substances is removed from blood in ornithine

cycle :


https://dl.doubtnut.com/l/_bcLsaUnzE0H2
https://dl.doubtnut.com/l/_y2KI607GjzQd

A. CO5 and urea

B. Ammonia and urea

C. CO, and ammonia

D. Urea and sodium salt

Answer: C

o Watch Video Solution

12. The presence of arginase confirms that

A. Arginine is synthesised


https://dl.doubtnut.com/l/_y2KI607GjzQd
https://dl.doubtnut.com/l/_do0u6Vyb7R9Y

B. Ammonia is formed

C.Arginine is being converted into

ornithine

D.Arginine is being converted into

citrulline

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_do0u6Vyb7R9Y

13. Kidney of a mammal resembles to the

contractile vacuole of Amoeba in expelling out

A. Glucose

B. Excess water

C. Urea

D. Ammonia

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_a2PrChffvUSQ
https://dl.doubtnut.com/l/_uQxuMDqqmv7w

14. In man purine metabolism results in the

formation of

A. Urea

B. Uric acid

C. Ammonia

D. Allantoin

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uQxuMDqqmv7w

15. Metanephridia, Malpighian tubules and

antennal glands are the excretory organs of

the following respectively

A. Hydras, sponges and planarians

B. Prawns, cockroaches and crabs

C. Earthworms, insects and prawns

D. Starfishes, cyclostomes and bony fishes

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dOh6jEPgfLmA

16. Earthworms are

A.Ureotelic when plenty of water is

available

B. Uricotelic when plenty of water is

available

C. Uricotelic under conditions of water

scarcity

D. Ammonotelic when plenty of water is

available


https://dl.doubtnut.com/l/_4X5S2kABvkqS

Answer: D

o Watch Video Solution

Exercise li Human Excretory System

1. The functional adult kidney of human being

is

A. archinephros

B. pronephros

C. mesonephros


https://dl.doubtnut.com/l/_4X5S2kABvkqS
https://dl.doubtnut.com/l/_LWvtSYn5rdi0

D. Metanephros

Answer: D

° Watch Video Solution

2. Which blood vessel carries least percentage

of urea?

A. Hepatic vein

B. Renal vein

C. Hepatic portal vein


https://dl.doubtnut.com/l/_LWvtSYn5rdi0
https://dl.doubtnut.com/l/_7a0v2UJHyRJE

D. Renal artery

Answer: B

° Watch Video Solution

3. The afferent and efferent vessels are

A. Arterial in nature

B. Venous in nature

C. One is arterial and the other is venous

D. None of the above


https://dl.doubtnut.com/l/_7a0v2UJHyRJE
https://dl.doubtnut.com/l/_k9JOg5mhQXvS

Answer: A

o Watch Video Solution

4. All Bowman's capsules of the kidney are

found in

A. Pelvis

B. Medulla

C. Cortex

D. None


https://dl.doubtnut.com/l/_k9JOg5mhQXvS
https://dl.doubtnut.com/l/_l96cwpeD1AD0

Answer: C

o Watch Video Solution

5. Complete loop of Henle is found in

A. Amphibia

B. Reptilia

C.Birds

D. Mammals

Answer: D


https://dl.doubtnut.com/l/_l96cwpeD1AD0
https://dl.doubtnut.com/l/_Y34IccyHhKMf

° Watch Video Solution

6. Which of the following is not a function of

kidneys?

A. Regulation of blood pressure

B. Removal of urea

C. Regulation of acidity of fluids

D. Secretion of antibiotics

Answer: D

| 8 l


https://dl.doubtnut.com/l/_Y34IccyHhKMf
https://dl.doubtnut.com/l/_rNudW2eKCuOL

7. Which type of kidneys are found in

amphibians?

A. Holonephric

B. Mesonephric

C. Pronephric

D. Metanephric

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rNudW2eKCuOL
https://dl.doubtnut.com/l/_dHLCY7RWWgDv

Exercise li Urine Formation

1. One is found in blood not in nephric filtrate

A. Urea
B. Glucose

C. Amino acids

D. Globulin

Answer: D

l o Watch Video Solution


https://dl.doubtnut.com/l/_dHLCY7RWWgDv
https://dl.doubtnut.com/l/_IknWJMEwtxyc

2. The effective filtration

uriniferous tubule is

A.75 mm Hg

B.10 mm Hg

C. 100 mm Hg

D. 125 mm Hg

Answer: B

pressure

in

o Watch Video Solution



https://dl.doubtnut.com/l/_IknWJMEwtxyc
https://dl.doubtnut.com/l/_RWig3UYTRQgf

3. Blood fraction remaining unchanged after

circulation through kidney is

A. Urea and uric acid

B. Urea and proteins

C. Urea and glucose

D. Glucose and proteins

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RWig3UYTRQgf
https://dl.doubtnut.com/l/_6at7GffUy0oS

4. Changeable threshold material in Renal

tubules

A. Water and Glucose

B. Urea and uric acid

C. Glucose and amino acids

D. Water and salts

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RRYMMpFEq2Lm
https://dl.doubtnut.com/l/_QoWQ1dCqGbE2

5. Due to insufficient filtration in the Bowman's

capsule, all are likely to happen except :

A. Accumulation of fluid in the body

B. Increase in blood pressure

C. Increase in blood urea level

D. Loss of glucose through urine

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_QoWQ1dCqGbE2

Exercise li Function Of The Tubules

1. Match the following regarding excretory

system and choose correct one.

Column-1 Column-I1

A)Proximal 1) Simple
convoluted tubule epithelium
B)Collecting duct 2) Simple cuboidal
epithelium

CyBowman’s capsule 3) Simple squamous
epithelium

DyUrinary bladder 4} Transitional
epithelium

° Watch Video Solution



https://dl.doubtnut.com/l/_Bs7uFqiN98go
https://dl.doubtnut.com/l/_eaCEhkMJVLxQ

2. Route of tubular secretion is

A.Blood — Interstitial fluid — Renal

fluid

B.Renal fluid — Interstitial fluid —

Blood

C.Blood — Renal fluid — Interstitial

fluid

D. Interstitial fluid — Renal fluid —

Blood


https://dl.doubtnut.com/l/_eaCEhkMJVLxQ

Answer: A

o Watch Video Solution

3. Which of the following statement is correct

pertaining to the functioning of nephron?

A. Conditional reabsorption of water takes

place in proximal convoluted tubule

B. Concentrated filtrate when passes

upward in ascending limb of loop of


https://dl.doubtnut.com/l/_eaCEhkMJVLxQ
https://dl.doubtnut.com/l/_YfbY28Iw1WQ1

Henle dilutes due to passage of

electrolytes into medullary fluid

C. More glucose is reabsorbed in distal

convoluted tubule

D. There is no hormonal influence on the

reabsorption of filtration load in

collecting duct

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YfbY28Iw1WQ1

Exercise li Mechanism Of Concentration Of The

Filtrate

1. Concentration of urine depends upon which

organ:

A. Bowman's capsule

B. length of Henle's loop

C.PC.T

D. network of capillaries arising from

glomerulus


https://dl.doubtnut.com/l/_6qCUXICLrab7

Answer: B

o Watch Video Solution

2. Counter current exchange occurs in

A. PCT

B. DCT

C. Vasa recta

D. Loop of Henle

Answer: C


https://dl.doubtnut.com/l/_6qCUXICLrab7
https://dl.doubtnut.com/l/_2SOpDFiBsZwD

° Watch Video Solution

Exercise li Regulation Of Kidney Function

1. Which regulates reabsorption of salts from

Glomerular filtrate ?

A. Oxytocin

B. Vasopressin

C. Glucocorticoids

D. Mineralocorticoids


https://dl.doubtnut.com/l/_2SOpDFiBsZwD
https://dl.doubtnut.com/l/_aOPENKN3Eb8h

Answer: D

o Watch Video Solution

Exercise li Role Of Other Organs In Excretion

1. Workers in deep mines usually suffer from

dehydration because:-

A. Water is lost due to evaporation

B. Water is lost due to defaecation

C. Water is lost in the form of urine


https://dl.doubtnut.com/l/_aOPENKN3Eb8h
https://dl.doubtnut.com/l/_tIUioT8LE11m

D. Water is lost along with salts in the form

of sweat

Answer: D

o Watch Video Solution

2. Why do we pass more urine in wet and cold

season?

A.Impairment of water absorption by

nephrons


https://dl.doubtnut.com/l/_tIUioT8LE11m
https://dl.doubtnut.com/l/_1CtK8LMC5AOu

B. Kidney becomes more active

C. Sweating is much decreased

D. ADH secretion is increased

Answer: C

o Watch Video Solution

Exercise li Disorders Of The Excretory System

1. A condition of failure of kidney to form urine

is called


https://dl.doubtnut.com/l/_1CtK8LMC5AOu
https://dl.doubtnut.com/l/_lmY4sKTKssKM

A. Creatinine

B. Haematuria

C. Anuria

D. Ketonuria

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lmY4sKTKssKM

2. Match the following.

Column-1 Column-11
A) Renal calculi 1) Uric acid deposition
B) Gout 2) Hyperparathyroidism
C) Uraemia 3) Diabetes insipidus
D} Giucosuria 4) Kidney failure

5) Hypoinsulinism
HDA-2,B-1,C-4,D-5
2)A-5,B-2,C-3,D-1
PDA-3,B-2,C-4,D-1
$4A-3,B-4C-2,D-5

o Watch Video Solution

3. Presence of RBC in urine called : —

A. Anuria


https://dl.doubtnut.com/l/_fFPBnbI7V2UQ
https://dl.doubtnut.com/l/_L0E86Q5tdnfs

B. Haematuria

C. Glycosuria

D. Ketonuria

Answer: B

o Watch Video Solution

4. Urine of a person who takes a protein-

deficient diet will have

A. Little glucose


https://dl.doubtnut.com/l/_L0E86Q5tdnfs
https://dl.doubtnut.com/l/_nlbczKlxhFBj

B. Less urea

C. Excess urea

D. Little fat

Answer: B

o Watch Video Solution

5. Urine of a human being suffering from

diabetes inspidus is

A. Tasteless and thick


https://dl.doubtnut.com/l/_nlbczKlxhFBj
https://dl.doubtnut.com/l/_kV7gaNkUsaOl

B. Sweet and thick

C. Tasteless and watery

D. Sweet and watery

Answer: C

o Watch Video Solution

6. A person is undergoing prolonged fasting.
His urine will be found to contain abnormal

quantities of -


https://dl.doubtnut.com/l/_kV7gaNkUsaOl
https://dl.doubtnut.com/l/_13IGDHAYkYvw

A. Fats

B. Amino acids

C. Ketones

D. Glucose

Answer: C

o Watch Video Solution

7. What will happen if one kidney is removed

from the body of a human


https://dl.doubtnut.com/l/_13IGDHAYkYvw
https://dl.doubtnut.com/l/_FK57aOyAKkhc

A. Death due to poisoning

B. Ureamia and death

C. Stoppage of urination

D. Nothing, the person will survive and

remain normal, kidney will become

hypertrophied

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FK57aOyAKkhc

8. In diabetes mellitus the patient drink more

water as there is urinary loss of

A. Salt

B. Insulin

C. Protein

D. Glucose

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GOYVVSJUYRhB
https://dl.doubtnut.com/l/_tu6Ksmdys2zb

9. If kidneys fail to reabsorb water the effect

on tissue would

A. Remain unaffected

B. Shrink and shrivel

C. Absorb water from blood plama

D. Take more O, from blood

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tu6Ksmdys2zb

10. Ketonuria is

A. Albumin in urine

B. Globulin in urine

C. Ketone bodies in urine

D. None of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_PRR9mkayqsUt

1. Which of the following statements are
correct?

(). Glucose has high threshold value.

(i1). Urine is concentrated in Henle's loop

(). Haemodialyser removes urea, uric acid,
glucose and plasma proteins

(iv). In glomerulus, urea, uric acid, water,

glucose and plasma proteins are filtered out.

AAGCD

B.B,C,D

C.A/B


https://dl.doubtnut.com/l/_Ctplc0ylMvG1

D.AC

Answer: C

o Watch Video Solution

12. Match the following regarding excretory

system and choose correct one.

Column-1 Column-II
AYG cells 1) Vasodilator
B)Hypothalamus 2) Vasoconsirictor
C)Angtotensin I1 3) Vasopressin

DYANF 4) Renin

iYA-4,B-3,C-2,D- |
2)A-3,B-2,C-1,D-4
3JJA-2,B-1,C-3,D-4
HA-2,B-1,C-4,D-3


https://dl.doubtnut.com/l/_Ctplc0ylMvG1
https://dl.doubtnut.com/l/_ezUZ8E58lDIm

° Watch Video Solution

13. Match the following regarding excretory

system and choose correct one.

Column-I Column-11
A)Urochrome 1) Urea forms in liver
B)Ornithine cycle 2) Colour of urine
C)Angiotensinogen  3) Concave border of

kidney
DiHilum 4) Produced by liver
NDA-4B-3,C-2,D-1
29A-3,B-2,C-1.D-4
3)A-2,B-1,C-3,D-4
HA-2,B-1,C-4,D-3

o Watch Video Solution

Exercise lii Previous Aipmt Neet Questions



https://dl.doubtnut.com/l/_ezUZ8E58lDIm
https://dl.doubtnut.com/l/_HE8w85Ou0Uhw

1. The part of nephron involved in active

reabsorption of sodium is

A. Bowman's capsule

B. Descending limb of Henle's loop

C. Distal convoluted tubule

D. Proximal convoluted tubule

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OCFP9BWqugDA

2. In mammals, which blood vessel would nor-

mally carry largest amount of urea

A. Renal vein

B. Dorsal aorta

C. Hepatic vein

D. Hepatic portal vein

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ORz1quyJMkWI
https://dl.doubtnut.com/l/_OBrmESrSErKg

3. Human urine is usually acidic because

A. Hydrogen ions are actively secreted into

the filtrate

B. The sodium transporter exchanges one

hydrogen ion for each sodium ion, in

peritubular capillaries

C. Excreted plasma proteins are acidic

D. Potassium and sodium exchange

generates acidity


https://dl.doubtnut.com/l/_OBrmESrSErKg

Answer: A

o Watch Video Solution

4. Removal of proximal convoluted tubule

from the nephron will result in

A. No urine formation

B. More diluted urine

C. More concentrated urine


https://dl.doubtnut.com/l/_OBrmESrSErKg
https://dl.doubtnut.com/l/_hEtXAVgUgclh

D.No change in quality and quantity of

urine

Answer: B

o Watch Video Solution

5. Which of the following does not favour the

formation of large quantities of dilute urine?

A. Atrial - natriuretic factor

B. Alcohol


https://dl.doubtnut.com/l/_hEtXAVgUgclh
https://dl.doubtnut.com/l/_lBb028wblWUr

C. Caffeine

D. Renin

Answer: D

o Watch Video Solution

6. Which of the following causes an increase in
sodium reabsorption in the distal convo- luted

tubule?

A. Increase in aldosterone levels


https://dl.doubtnut.com/l/_lBb028wblWUr
https://dl.doubtnut.com/l/_S0XrAyz6DRlo

B. Decrease in antidiuretic hormone levels

C. Decrease in aldosterone levels

D. Decrease in antidiuretic hormone levels

Answer: A

o Watch Video Solution

7. Figure shows human urinary system with
structures labelled A to D. Select option which

correctly identifies them and gives their


https://dl.doubtnut.com/l/_S0XrAyz6DRlo
https://dl.doubtnut.com/l/_NVZGQI2p4Ucw

characteristics and/or functions

'/‘-,“ URINARY BLADDER

A. A-Adrenal gland-located at the anterior

part of Kidney. Secrete catecholamines

which stimulate glycogen breakdown

B. B-Pelvis-broad funnel shaped space inner

to hilum, directly connected to loop of

Henle.


https://dl.doubtnut.com/l/_NVZGQI2p4Ucw

C. C-Medulla-inner zone of kidney and

contains complete nephrons.

D. D-Cortex-outer part of kidney and do not

contain any part of nephrons.

Answer: A

o Watch Video Solution

8. Which one of the following options gives

the correct categorization of animals


https://dl.doubtnut.com/l/_NVZGQI2p4Ucw
https://dl.doubtnut.com/l/_gev6m1IQ27oD

according to the type of nitrogenous waste

they give out?

° Watch Video Solution

9. Which one of the following characteristics is

common both in human and adult frogs?

A. Internal fertilization

B. Nucleated RBCs

C. Ureotelic mode of excretion

D. Four-chambered heart


https://dl.doubtnut.com/l/_gev6m1IQ27oD
https://dl.doubtnut.com/l/_1kiF43OrgLd9

Answer: C

o Watch Video Solution

10. A fall in glomerular filtration rate (GFR)

activates

A. Adrenal cortex to release aldosterone

B. Adrenal medulla to release adrenaline

C. Posterior pituitary to release

vasopressin


https://dl.doubtnut.com/l/_1kiF43OrgLd9
https://dl.doubtnut.com/l/_N6dw468Ba6J5

D. Juxtaglomerular cells to release renin

Answer: D

° Watch Video Solution

11. The maximum amount of electrolytes and
water (70 - 80 percent) from the glomerular
filtrate is reabsorbed in which part of the

nephron?

A. Proximal convoluted tubule


https://dl.doubtnut.com/l/_N6dw468Ba6J5
https://dl.doubtnut.com/l/_3Xco4MPkWTRH

B. Descending limb of loop of Henle

C. Ascending limb of loop of Henle

D. Distal convoluted tubule

Answer: A

o Watch Video Solution

12. Uricotelic mode of passing out nitrogenous

wastes is found in

A. Insects and Amphibians


https://dl.doubtnut.com/l/_3Xco4MPkWTRH
https://dl.doubtnut.com/l/_xPapiBNlc9w8

B. Reptiles and Birds

C. Birds and Annelids

D. Amphibians and Reptiles

Answer: B

o Watch Video Solution

13. which of the following statement is correct

with respect to kidney function regulation?


https://dl.doubtnut.com/l/_xPapiBNlc9w8
https://dl.doubtnut.com/l/_AFuF1Bob85Sa

A.During summer when body loses of lot

of water by evaporation, the release of

ADH is suppressed

B. When someone drinks lot of water, ADH

release is suppressed

C. Exposure to cold temperature stimulates

ADH release

D.An increase in glomerular blood flow

stimulates formation of Angiotensin Il.

Answer: B


https://dl.doubtnut.com/l/_AFuF1Bob85Sa

o Watch Video Solution

14. Which one of the following is a correct pair
showing the function of a specific part of the
human nephron?
A. Afferent arteriole: carries the blood away
from the glomerulus towards renal vein
B. Podocytes: Create minute spaces

(slitpores) for the filtration of blood into

the Bowman's capsule


https://dl.doubtnut.com/l/_AFuF1Bob85Sa
https://dl.doubtnut.com/l/_s8NGNn5NEYHe

C. Henle's loop: most reabsorption of the
major substances from the glomerular
filtrate

D. Distal convoluted tubule: reabsorption
of K ions into the surrounding blood

capillaries

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_s8NGNn5NEYHe

15. Which one of the following statements in

regard to the excretion by the human kidneys

is correct?

A.Descending limb of loop of Henle is

impermeable to water

B. Distal convoluted tubules is incapable in

reabsorbing HC'O4

C.Nearly 99 percent of the glomerular

filtrate is reabsorbed by the renal tube


https://dl.doubtnut.com/l/_v5MibD8UCd03

D. Ascending limb of loop of Henle is

impermeable to electrolytes

Answer: C

o Watch Video Solution

16. The principal nitrogenous excretory

compound in humans is aynthesized

A.In  kidneys but eliminated mostly

through liver


https://dl.doubtnut.com/l/_v5MibD8UCd03
https://dl.doubtnut.com/l/_4Qx1FsR9o1Ap

B.In kidneys as well as eliminated by

kidneys

C.In liver and also eliminated by the same

through bile

D.In the liver, but eliminated mostly

through kidneys

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4Qx1FsR9o1Ap

17. What will happen if the stretch receptors of

the urinary bladder wall are totally removed?

A. There will be no micturition

B. Urine will continue to collect normally in

bladder

C. Micturition will continue

D. Urine will not collect in the bladder

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FHDZCjp1utRz

18. Uric acid is the chief nitrogenous

component of the excretory products of

A. Frog

B. Man

C. Earthworm

D. Cockroach

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FHDZCjp1utRz
https://dl.doubtnut.com/l/_PIi24GK2L1Ln
https://dl.doubtnut.com/l/_afJ4X9dmKZFp

19. Consider the following four statements (i)-
(iv) about certain desert animals such as
kangaroo rat.

i) They have dark colour and high rate of
reproduction and excrete solid urine ii) They
do not drink water, breathe at a slow rate to
conserve water and have their body covered
with thick hairs iii) They feed on dry seeds and
do not required drinking water iv)They excrete
very concentrated urine and do not use water
to regulate body temperature. Out of these

four, which two are correct :


https://dl.doubtnut.com/l/_afJ4X9dmKZFp

A. (iii) and (i)

B. (i) and (ii)

C. (iii) and (iv)

D. (ii) and (iii)
Answer: C

o Watch Video Solution

20. A person who is on a long hunger strike

and is surviving only on water, will have


https://dl.doubtnut.com/l/_afJ4X9dmKZFp
https://dl.doubtnut.com/l/_3WZtr0oludxV

A. Less urea in his urine

B. More sodium in his urine

C. Less amino acids in his urine

D. More glucose in his blood

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3WZtr0oludxV

